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A potted plant was destarched by leaving it in the dark cupboard for three days.
After which a leaf was detached and dipped in boiling water for one minute.
(@) (i) Why was the leaf dipped in boiling water? (2]
(ii) The leaf was then dipped in boiling alcohol in a beaker using a
water bath for three minutes. State what happened to the leaf

after three minutes. [1]

(iii) State the texture of the leaf after putting it in boiling alcohol for a
minika r{1
minuce. L+]

(iv) The leaf was spread on a white tile and three drops of iodine
solution were added to the leaf. The experiment was@i’c to stand for
a few minutes. State what happened to the leaf. =~ %, [1]

N

(b) Name the chemical that was used to test for the nutr[ent prese [1]
(c) Why was the nutrient absent in the leaf? - [2]
(d) Why was the water bath used to boil the leaf in alcehol? * Al
(e) State three external adaptive features of th leaf that enable. it to
photosynthesize. ' ey F [3]

[Tgtal 12 marks]

In a given ecosystem, students on a field trip ob red the‘f@ltowmg living and
non-living things: rats, snakes, birds, gras st%mcks and fish.

(a) From the list above, identi%ﬁhb

(i) Dbiotic factors. [2]
(ii)  abiotic factors. 2]
(b) Construct a food ch n corisisting:@f three trophic levels from the list
above. = [3]
(c) State the hahltat of the fish in the given ecosystem. [1]
(d) What woutd be the effect in your constructed food chain above if the
nsumgrs weresné?mbved? [2]
[1]

cuttir  trees in the ecosyste m
[Total: 15 marks]

pfﬁnrrc of c1 itting down trees in the ecosystem.

erozygous for biood group B married a woman whose blood

fe the possible blood group genotypes of
'=:-;_,:‘(I) the man.
“(if) the woman. [2]
(b) Which blood group is called a
(i) universal donor?

Give a reason. [2]
(i) universal recipient?
Give a reason. [2]

(c) The sex of an individual is determined at fertilization. Outline all the steps
in the determination of the sex of a human being using genetic symbols. [7]
[Total: 13 marks]
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